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This paper is divided into three Sections-A, B and
C. Section-A contains Descriptive answer

Questions, Section-B contains Short Aaswer

Questions and Section-C contains Very Short
Answer Questions, Attempt all the sections as

per instructions.
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Section-A
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(Descriptive Answer Questions)
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This section contains six questions, attempt any

i ' arks.
three questions. Each question carries 10m
Answer must be descriptive.
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. Discuss about the scientific package for o
cultivation of wheat.
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2. Write about the cultivation of rape seed and mus r
under the following heads ;

(i) Botanical description
(ii) Climatc and soil

(ii1) Seed and sowing

(iv) NPK demand

(v) Ilrmrigation management
(vi) Pest management

(vii) Improved vrieties

(viii) Harvesting and threshing,
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(@) What are the major causes of poor pulse
productivity in uttar pradesh ? Suggest
strategies for improving pulse production in the

State. 5
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Calculate the amount of isohit required for
weed control in wheat. The crop is to be

sprayed @ 1.25 kg a i/ha and the commercial
5

(b)

product has 50% wP.
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{ 4)
hout Scientific Cultivation of Sunﬂnwer

~uss a
:::‘pl:-cial reference to Ljuar Pradesh. 10
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Describe the cultivation of lucern, mentha, e
gram, and barley in the form of a table, 16
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Discuss about cultivation of barley under the
]

following heads :
(1) Botanical name and family
(if) Economic importance
(iii) Origin

(iv) Seedand Sowing

(v) Improved varieties

(vi) Nutrient requrement
(vii) Irrigation

(viii) Pest management
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() i ﬁ}ﬁ 8. Write about the cultivation of potato tn briet = 5
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) . ; 9% D Merentiate between any iwo ol the following ,
o) (1) Nippang i gram and topping in tobaceo,
(viti) Y- g (1) Rhizobium treatment and thirmm treatment
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¢ : This section contains three questions. Attempt any (i) W AMas IgET qur ITTT

mwo questions. Each question carries 5 marks. 1

! 5x2=10 (iti) GG 9 aifan
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o 9 3iF & B -
. (Very Short Answer Questions
7. Write short notes on any two of the following : ry Q )
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(i) Curring of tobacco leaves Note : This question contains five parts. All parts will

(i} Cutting management in berseem be compulsory. Each part carries 2 marks.
2x5=10

(i) Earthing up in potato.
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(@) Primary Centre of origin
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